
o. iobn5sni5 ~ n < o  BALL B t A R l N G  m5iCnvs S K I  a?owa.~sr15xy? 

p4Gausiur$iil.uosbna~ni5 n5u$wp415a?o 

b. asZusud3~u1~dIia"uni5Cna55 ~ ~ , O O O  UIM 

m. 7uw"n"iwun.jininais (51~16is;s) [ -  4 S, n ,  2557 
r3uZu a~lb,600 UIM 5ini/~4Cm (515) m~uG'~.ii~aauu 

6. uwasiuiuossininais (5imi5 ' isGs)  

d o  ~USIAIQIII u%n ~Gn<rmo< ~ ~ o 3 ~ a a d v  aaou6 ui?u <i<m 

6.b 

6. m 
v d v o  

. ~iu~oail"1p4ui~~nip4um~ininais ( ~ i n i k s Z s )  ynnu 

<.a Ul'JlbtIn S i  ~ l ~ l l $ ~ 5 1 ~ ~  

. a'id uiaiaon Ew'sGu5' da"nuim 



a'in'u PART NO 

6312-2Z/C3 BALL BEARING 

6314-2Z/C3 BALL BEARING 

7312 BEP BALL BEARING 

7314 8EP BALL BEARING 

6205-2RS1/C3 BALL BEARING 

6206-2RSl/C3 BALL BEARING 

6307~2RSl/C3 BALL BEARING 

6205-2UC3 BALL BEARING 

6308-2RSl/C3 BALL BEARING 

6208-2RSl/C3 BALL BEARING 

6306-2RSl/C3 BALL BEARING 

6313-2Z/C3 BALL BEARING 

6312-2RSl/C3 BALL BEARING 
~ - 

6311-2Z/C3 !BALL BEARING 

6203-2Z/C3 BALL BEARING 

6213-2RS1 BALL BEARING 

17 7312 BECBJ BALL BEARING 

18 6407 BALL BEARING 

19 6220-C3 BALL BEARING 


